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QUESTION 1

The EPL service exclusively uses bandwidth on the line, which is highly secure. It is applicable to the private line
application of VIP customers.

A. TRUE
B. FALSE

Correct Answer: A

QUESTION 2

Which of the following ITU-T recommendations defines the OTN frame structure?
A. G.694

B. G.652

C.G.975

D. G.709

Correct Answer: D

QUESTION 3

Which of the following are the main advantages of SDH? (Multiple Choice)
A. Standard interfaces

B. Synchronous multiplexing

C. Powerful OAM

D. High compatibility

Correct Answer: ABCD

QUESTION 4

An unprotected chain consists of four NEs: NE1, NE2, NE3, and NE4. An end-to-end VC4 trail NE1--NE4 is created,
and NES5 is added between NE2 and NE3 for capacity expansion. The original configuration remains unchanged, and no
service is configured on NES. In this case, the unprotected chain becomes NE1-NE2-NE5-NE3-NE4, and how many
VC4 trails can be searched out?

A.0

B.1
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C.2
D.3

Correct Answer: C

QUESTION 5
Which of the following statements about overhead bytes is incorrect?
A. Al and A2 are framing bytes. These bytes are used to separate STM-1 frames in a signal flow.

B. JO is a regenerator section trace byte. This byte is used to repeatedly transmit a section access point identifier, so
that the receive end can verify its continuous connection to the specified transmit end.

C. Bl s bit interleaved parity-8 (BIP-8). This byte is used to monitor bit errors at the regenerator section layer.
D. E1 and E2 are orderwire bytes. These bytes are used to provide a voice channel for orderwire connections.

Correct Answer: A
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